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QUESTION 1

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. 

Which two statements should the architect consider as non-technical requirements? (Choose two.) 

A. Any solution should add more value to current and future customers engagements. 

B. The design should offer agility and freedom for application phases. 

C. All application servers have hardcoded IP addresses. 

D. Current business continuity and disaster recovery plans are based on tape technology. 

E. Different vendors are used for the storage solution. 

Correct Answer: BD 

 

QUESTION 2

An NSX-T Architect is working in a brownfield environment with 4 ESXi hosts. These constraints were documented: 

new servers cannot be purchased North/South bandwidth must be guaranteed Top-of-Rack switches have additional
uplinks 

Which three recommendations should the architect implement? (Choose three.) 

A. Remove one of the ESXi hosts and install a bare-metal Edge. 

B. Use a resource pool for production workloads. 

C. Use a resource pool to deploy the Edge nodes on. 

D. Recommend obtaining 2 new physical NICs for the servers. 

E. Install Edge nodes on a separate cluster. 

Correct Answer: ACD 

 

 

QUESTION 3

A Solution Architect will be deploying an Ethernet Virtual Private Network (EVPN) in their NSX-T Data Center
environment. 

What two selections must be prepared for the EVPN deployment? (Choose two.) 

A. deployed Tier-0 gateway 

B. deployed Load Balancer 
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C. deployed Tier-1 gateway 

D. remote gateway with support for IGP and VLAN priority 

E. remote gateway with support for MP-BGP and VXLAN 

Correct Answer: BE 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/nsxt_30_admin.pdf 

 

QUESTION 4

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. 

This information was gathered during the Assessment Phase: 

There isn\\'t much budget available for a new off shore site. 

The new site is decentralized and no communication with the main data center is required. 

The design will need to cater for availability, upgrades, and failure scenarios. 

N+1 must be maintained at all times. 

Which three selections should the architect recommend in their design? (Choose three.) 

A. Separate the hosts physical NICs for VSS and N-VDS. 

B. Make all pNICs part of N-VDS and VMKs will be migrated. 

C. Collapse the Management/Edge/Compute cluster. 

D. Install a minimum 4 ESXi hosts in the site. 

E. A Shared Edge/Management cluster and one for Compute. 

F. Install a minimum of 3 ESXi hosts in the site. 

Correct Answer: ABC 

 

 

QUESTION 5

An administrator is asked to improve Recovery Point Objective (RPO) and Recovery Time Objective (RTO) for Disaster
Recovery (DR) in their company network. The network has a primary site and a secondary site. The ability to support
outages with minimum loss of connectivity to the company\\'s core application is a priority. 

Which design should the administrator recommend? (Choose the best answer.) 

A. NSX-T Data Center using an Orchestrator to recover VMs across sites. 

B. NSX-T Data Center using Federation and dependencies set between primary and secondary sites. 
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C. NSX-T Data Center using a registered third-party DR solution. 

D. NSX-T Data Center using built-in standard automation DR and secondary site recovery setup. 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/nsxt_30_admin.pdf 
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